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500,000 * 23] * 2004 2,000
02 2224 4| 29,000 29,000 0
O AIR4A 2 =4 22/H S 20,000,000 20,000
O MEZHSXH (LI AL £=2/&H|)
9,000,000& 9,000
202 044 7,200 6,480 720
01 2L Hl 7,200 6,480 720
O AMESARA d2FX 0|
200,000& * 3% * 12& 7,200
203 €2 F&d| 1,200 1,200 0
04 EASHEIRFAH| 1,200 1,200 0
O REANSHEIYIRFAH| 100,000& * 128 1,200
204 = 2 =8 A H| 1,800 1,800 0
01 Mg HRSHAH| 1,800 1,800 0
O NMSAIRAR(5Z) 150,000 x12& 1,800
405 XHAHF S HI 3,000 7,500 A 4,500
01 XAt 2 E F S| 3,000 7,500 A 4,500
O L& AMPHS3 UM S 3,000,000 3,000




